=
O1
-
o

S

Number of Events
H
O1 (@)
o (@)
(@ (@)

A

Pythia_ref
B Other

i) |

2 |

] tau-tau+ : 3.5%
1 Z0jj: 9.5%
[ 170j:29.6%
| 1 70:51.3%

[ T+

|

200 400
M(1,)2) (GeV)



Number of Events

e Pythia_ref
B Other

1500

1000~

500/~

1 Z0jj: 9.5%
[ 12Z0j:29.6%
| 170:51.3%

1 tau-tau+ : 3.5%

| ol

AQ(1,)2) (radians)




Number of Events

300

200

100

e Pythia_ref
B Other

[ [

-+ N

—

& T T 1 | T T 1 | T T 1 | [ N

] tau-tau+ : 3.5%
1 Z0jj: 9.5%
[ 170j:29.6%
| 1 70:51.3%

| |
100 200
sumPt (GeV)




Number of Events

300

200

100

e Pythia_ref
B Other

] tau-tau+ : 3.5%
1 Z0jj: 9.5%
[ 170j:29.6%
| 1 70:51.3%

| 1|O |
M(j2) (GeV)




Number of Events

1500

1000

500

_ e Pythia_ref
2] B Other
— 1 tau-tau+ : 3.5%
B [ 1 Z0jj:9.5%
i [ 170j:29.6%
] L 170:51.3%
i ]
N 4 E
N _-_

MINAR(],])




Number of Events

1500

1000

500

_ e Pythia_ref
2] B Other
— 1 tau-tau+ : 3.5%
B [ 1 Z0jj:9.5%
i [ 170j:29.6%
] L 170:51.3%
i ]
N 4 E
N _-_

A
AR(J1,)2)




Number of Events

_ e Pythia_ref
2] B Other
B ] tau-tau+ : 3.5%
B ] Z0jj : 9.5%
400— [ 12Z0j:29.6%
B . 170:51.3%
- m
300 I
- m
_ % I
200 ||| ﬁ
. ]
i S
1001 N
1 L
%0 5 10 15

minMass(j) (GeV)



Number of Events

W
)
o

N
-
o

100

e Pythia_ref
B Other

] tau-tau+ : 3.5%
[ 1 Z0jj:9.5%
[ 170j:29.6%
| 1 70:51.3%

M(j1) (GeV)




Number of Events

200

100

e Pythia ref
B Other
[ tau-tau+ : 3.5%
1 Z0jj: 9.5%
1 Z0j: 29.6%

[ 1270:51.3%




Number of Events

_ e Pythia_ref
2] B Other
1 tau-tau+ : 3.5%
} 1 Z0jj : 9.5%
[ 12Z0j:29.6%
[ 1270:51.3%

200

100

i | |
0 10 20
clusteredObjectsRecoll P (GeV)



Number of Events

_ e Pythia_ref
2] B Other
= [ tau-tau+ : 3.5%
[ 12Z0jj:9.5%
B [ 1Z0j:29.6%
B . 170:51.3%

400

200

i1p_(GeV)



Number of Events

N
-
o

=
O1
o

100

o)
o

e Pythia_ref
B Other

A

] tau-tau+ : 3.5%

1 Z0jj: 9.5%

[ 170j:29.6%
L 170: |51.3%

:
]

-2 0 2
]2 @ (radians)



Number of Events

e Pythia_ref

2] B Other
B ] tau-tau+ : 3.5%
B [ 170jj:9.5%
- [ 12Z0j:29.6%
200 [ 120:51.3%
150
100 B
i = — 1
EWTW 1
50t M

| | |
0 2 0 2

j1o@(radians)



Number of Events

e Pythia_ref
B Other

=

o

-

O
|

500

] tau-tau+ : 3.5%
[ 1Z70jj:9.5%
[ 170j:29.6%
| 1 70:51.3%

2p_(GeV)




Number of Events

e Pythia_ref

2] B Other

[ tau-tau+ : 3.5%
. 1 Z0jj: 9.5%

} ] Z0j:29.6%
L 170:51.3%

200

100




Number of Events

_ e Pythia_ref

2] B Other

1 tau-tau+ : 3.5%
- 1 Z0jj: 9.5%

} ] Z0j:29.6%
L ] 70:51.3%

200

100




Number of Events

200

100

e Pythia_ref
B Other

] tau-tau+ : 3.5%
[ 1 Z0jj:9.5%
[ 170j:29.6%
| 1 70:51.3%




Number of Events

200

100

e Pythia_ref
B Other

] tau-tau+ : 3.5%
[ 1 Z0jj : 9.5%
] Z0j: 29.6%
| 1 70:51.3%




Number of Events

Pythia_ref

2] B Other
] tau-tau+ : 3.5%

- 1 Z0jj : 9.5%

- ] Z0j:29.6%
6000 [ 1270:51.3%

I a
4000 B
2000

] | L | N T TR TR R

01 0.5 0 0.5

uncl P (GeV)




